
Features
•	 Compatible with all C Series Westbury® Aluminum Railing
•	 Meets IRC Code including increased strength requirements
•	 Designed and engineered for a seamless look and lasting durability
•	 AAMA 2604 Powder Coated using DSl’s 10 step proprietary coating process
•	 Available in 12 Standard DSI Colors to match your railing
•	 Posts are pre-drilled for quick installation
•	 Covered by DSl’s Lifetime Limited Aluminum Warranty

PARTS LIST
DESCRIPTIONPART NUMBERQTYITEM

 56189 Bracket Alum Angle 1.88 x 4'' Fascia Mnt41
 56240 Plate Alum .25'' x 2'' x 4.5'' for Fascia 

Mnt
22

 94240 Alum Tube 2 x 2 x.093 wScrew Chan 
50.0in

13

ALUM INSERT 1-78 SQ 
X 4¾ (FASCIA MNT)

110137ZZZ14

Flat WasherFlat Washer - 3/8 85
Hex Cap ScrewHex Cap Screw - 3/8-16 UNC - 146
Hex Cap ScrewHex Cap Screw - 3/8-16 UNC - 2.547
Hex Cap ScrewHex Cap Screw - 3/8-16 UNC - 488
Hex NutHex Nut - 3/8 - 16129
 Wood 2 x 8 - 14.50310
 Wood 2 x 8 - 20.00211

1

1

2

2

3

3

4

4

A A

B B

C C

D D

DRAWN BY:

DATE DRAWN:
 
7/1/2020

MATERIAL:

PART NUMBER:

PART NAME:

REV.

STANDARD TOLERANCE:
.00  `.01
.000 `.005
ANG. `.5~

WEIGHT:

FRACTIONS:   1
16

" DRAFT NO.
3446 US 6 EAST

BREMEN, IN 46506
www.diggerspecialties.com

20200701-3C

CM

Line Post_test set up.idw

xxxxx
FILE LOC: Z:\Projects\Projects 2020\Fascia Mount 
Post Tests\Line Post\Line Post_test set up.idw

XXXX

20"

171
2"

5
8"

71
8"

50"

2" 2"

17
8"9"

10

11

1

2

4
3

7

18

5 5

6

9

DATEDESCRIPTIONREV.
6/16/2021Changed from 5/16" to 3/8" bolts.A

   
   
   

A

PARTS LIST

LENGTHDESCRIPTIONPART
NUMBERQTYITEM

 ALUM INSERT 1-7/8" SQ X 12¼" (FASCIA MNT)110136ZZZ11
50 inALUM SCR TUBE 2" X 2" X 184" (.093)155933ZZZ12

 BRACKET PLN ALUM ANGLE 4'' (FASCIA MNT)110134ZZZ23
1 1 8 inHex Bolt SS 3/8-16 UNC 64

 NUT PLN HEX SS 3/8"-16110448ZZZ125
 PLATE ALUM ¼"X2"X4½" 3 HOLE (FASCIA MNT)110135ZZZ26

8 3 4 inThreaded Rod_3/8-16_Grade 8 67
 WASHER PLN FLAT SS 3/8" - 7/8" X .050"155990ZZZ68

16 inWood 2 x 8 49
18 inWood Post 6 x 6 110

1

1

2

2

3

3

4

4

A A

B B

C C

D D

DRAWN BY:

DATE DRAWN:
 
7/1/2020

MATERIAL:

PART NUMBER:

PART NAME:

REV.

STANDARD TOLERANCE:
.00  `.01
.000 `.005
ANG. `.5~

WEIGHT:

FRACTIONS:   1
16

" DRAFT NO.
3446 US 6 EAST

BREMEN, IN 46506
www.diggerspecialties.com

DATEDESCRIPTIONREV.
6/16/2021Changed from 5/16" to 3/8" bolts, longer wood post.A
02/10/2022Revised Parts ListB

   
   

20200701-1C

CM

Corner Outside_test set up.idw

xxxxx
FILE LOC: Z:\Projects\Projects 2020\Fascia Mount 
Post Tests\Corner Post _Outside\Corner 
Outside_test set up.idw

XXXX

71
8"

171
2"

171
2"

50"

2" 2"

5
8"5

8"

51
2"

51
2"

17
8"

10

9

2

4

6

7
5

8

3

1

51
2" 51

2"

107
8"

B

PARTS LIST

LENGTHDESCRIPTIONPART
NUMBERQTYITEM

 ALUM INSERT 1-7/8" SQ X 12¼" (FASCIA MNT)110136ZZZ11
50 inALUM SCR TUBE 2" X 2" X 184" (.093)155933ZZZ12

 BRACKET PLN ALUM ANGLE 4'' (FASCIA MNT)110134ZZZ23
1 1 8 inHex Bolt SS 3/8-16 UNC 64

6 inHex Bolt SS 3/8-16 UNC 35
 NUT PLN HEX SS 3/8"-16110448ZZZ96
 PLATE ALUM ¼"X2"X4½" 3 HOLE (FASCIA MNT)110135ZZZ27
 Threaded Rod_3/8-16_Grade 8 38
 WASHER PLN FLAT SS 3/8" - 7/8" X .050"155990ZZZ69

11 1 2 inWood 2 x 8 310
20 inWood 2 x 8 311
18 inWood Post 6 x 6 112

1

1

2

2

3

3

4

4

A A

B B

C C

D D

DRAWN BY:

DATE DRAWN:
 
7/1/2020

MATERIAL:

PART NUMBER:

PART NAME:

REV.

STANDARD TOLERANCE:
.00  `.01
.000 `.005
ANG. `.5~

WEIGHT:

FRACTIONS:   1
16

" DRAFT NO.
3446 US 6 EAST

BREMEN, IN 46506
www.diggerspecialties.com

20200701-2C

CM

Corner Inside_test set up.idw

xxxxx
FILE LOC: Z:\Projects\Projects 2020\Fascia Mount 
Post Tests\Corner Post_Inside\Corner Inside_test 
set up.idw

XXXX

171
2"

20"

111
2"

41
2"

2" 2"

71
8"

5
8" 5

8"

17
8"

51
2"

51
2"

50"

10

11

7

3

5

86

4

8

9

12

2

51
2" 51

2"

107
8"

DATEDESCRIPTIONREV.
06/16/2021Changed from 5/16" to 3/8" bolts, longer wood post.A
02/10/2022Revised Parts ListB

   
   

B

1

FASCIA MOUNT 
POSTS & BRACKET KITS

Fascia Mount Posts and Bracket Kits offer an 
alternative to surface mounting of railing posts. 
Mounting a fascia post to the side of a deck or 
balcony creates a streamlined look and maximizes 
your outdoor living space.

Line Outside Corner Inside Corner


